) 1.

) 2.

) 3.

) 4.

) 5.

RERY 1105 &R Y28y - 25y [HER]
TT% ! Js 5 S CAEAI

ERSEt S R T AR N (CA#ERBEAL) © 26510~ 153 ~8~7~ 15 SFERFRfE R 5~10 73
(B1& S 57 (BAEE 10 ) B R (L ?

(A) 6 (B)5 ©)4 (D)3
JEATEIN 10 ME ERVFEE T By 24 ~ 253~ 27~ 22~ 26~ 26 ~ 57 ~ 25 ~ 25 5%, > RILLHRITEIRV-EITFEE Rdent ?
(A) 29 (B) 28 (C) 27 (D) 26

12

BRSPS S B R B BT » RS g 10

(60 43 BL_E)ERA A 5/ A2 NE:
(A) 24 (B) 23

(C) 22 (D) 21
RHSAEAESE H 20 B L3 H ARV B ER Iy

(o]

oN B

) ! I I ! I I I I
30 40 50 60 70 80 90 100 43E(%})

o DR 4@ SR S O B 78 - 4075 TE » ks Hiﬁﬁﬂﬁ ) | KEX) %El(g)
1 kA= ? i I N

5~10 * 5 g
(A6 10~15 4 3
(B)7 15~20 5 G -
(O 20~25 A 0 5 10 1553%2?%)
(D)9 oz 20 A

BRI 30 7T » FEFE—(0 40 7€ » ANEER T x IR (o FEPE > SE4E T 200 7T >
EI— S HBUE R A ER ?

(A) 2 MRS ~ 4 (0 #EFE (B) 3 MREERYIR ~ 3 &k
(C) 4 MREERTIR ~ 2 [ #EHE (D) S MRS ~ 1 10 #EFE
) 6. ZEHF9 (AT 6 PRILEE 360 T - SEENE &S 6 (7AI%l7k 4 #1300 ot » B[ [EZ /DT ?
(A) 20 (B) 40 (C) 60 (D) 80
. | 3X+5y=7
) 7. T?'Jﬁ%%im—:ﬁ(ﬁ%ﬁﬁ?ﬁifﬁ{X_y:5 Hfig 2
(A)x=3 > y=—2 B)x=4 > y=—1
(C)x=6> y=—1 (D)x=2> y=—3
ax+by=4 cx+dy=8
) 8. & {2x+y—7 Eﬁi{ _3x+By——30 AMEEEE - Al x+y=?
(A)2 (B) 4 €)6 (D)8
) 9. RIVPHIERERER 3% > F&Z 200 AlF= 7
(A) 25 (B) 50 (C) 75 (D) 100
) 10. BEgH, 5 BECCLAME 4 #E 5 10 7T - HREREURHERSHEZE 3 7T > RIEERAHVEEZ %/ Doe ?
(A) frefiet (B)20 7T (©)257C (D)227¢
) . T —RITREA S 7

(A) faF—4E B faAmEE (O ERZEME (D) HEEF

- NI E TIOR3 —2y= — 4 HUfE ?

A)x=—2>y=—1 B)x=0>y=2
OC)x=—4>y=—4 D)x=2>y=1



) 130 x=— 1 y=0 K& FHIHE Tt KBTI 2

2X—y=—2 (B){ 4x+y=—4 D —2X+y=2

Xx—y=1 (D)
—X+y=1 X+y=-—1 3Xx—2y=—3

&) 4x+3y=0

©)|

R - BEQAAG x= ?

+3y 7—3y
2 D)

)14%@Aﬁzﬁﬁ:ﬁ—$%mﬁ&ﬁ[
(A)7+3y (B) (7+3y)x2 ©)

) 15, AP EA P {ERS 4(—4,0) ~ BG, —5) > C(—1, —6) > D(0, —5) > TFHIFETEIERE ?

(A) 4 B x BFIZEBER 4 (B) B BG5S IR
(C) CBAEB=2 (D) D it x i I-

) 16. THIMER T EE S y—1 1
A, 1 B) (1, 1)
(© O, 1) (D) (—1,1)

) 17. FEASHIPE b > FIE 78— ST 20—y = —4 7l 3y=2x+8 WYY A BEAL B 2
() (1,2) ®)(1, —2)
©(~1,2) 0) (—1, —2)

) 18. i3, —5) ~ (0, — SRV E S T2 =N NHI =& 2
(A)x=3 (B) 5x+3y=0
(C) 5x—3y=0 (D)y=—5
) 19, FHIR £ 2
(A) FEALAEEHE - BEAG, —2)% x frVEEREE | —2 | - 2]y BhAVEESEZ | 3 |
(B) FEAAA P E - B4, S)BLERE(S , 4)/2[F Bk
(C) ALK H E > x Bl EAYE—BE > HAEAAE A 0
(D) fEAAAE T b - J7HES y="5 BB & —R~FAT x ShHY &R

) 20. ERIAERAE E—HRE A1, 3) > 55 4 Bh[AAG 2 BAA0tg > FET 5 BALEIEE B &L - Al B BEAYALARE Refel 2
A)d, —2) B) (=1, -2) ©)(,3) D) (—3.8)

) 21, NHIMER A E SR x=—5 £ 7
(A) (=5, —5) B)(=5.0) ©)(—=5.3) D) (O, —5)

) 22. NHIE—{E 7R B e i R 2
(A) 5x—y=0 (B) 3x=8 (C)2y—7=0 (D)y=3x—6

) 23. Bl a>0 b<0 > FHIEFERREREHIER x+ay=>b HIEE ?
(A) y (B) y ©) y (D) y

) 24, /NFFE/NS 2 /NFEEE T 120 H o NAE/INR 3 /NEFEEE T 150 H o BRI NGB B NE /N VAR ERE Ry {n] ?
9 6
(A) 3 B) 3

5 3
© 3 (D) 35



) 25. /el 2 RREERZSRIA 460 ZTHEEY) - HOEk 2 MR 28 - S USRS Ol 36 FAFHIE CIBRAVIA R 234,
FE/VTREAERFHRAN 1 DTSR ?

(A)7 (B) 8
(C)9 (D) 10

) 26. AGRF 910 5/ RIVERN 3 BIFIFREE By 4 1 3 BYRALE » 53 BIREAE /K S R AEAE » RIZK RISV IR R 25/ DT AR ?
(A) 130 (B) 303 (C) 390 (D) 520

) 27. THIR—{EBETH Y p 8 x BB 7
(A) $F—F S 7T BAx THE T y i
(B) LARFZ x N H > BT y /NEF > 3E58 20 A E
(C) = x 57 > ERRRy y PRI - ERY B N RAYAL R = HY 2 (%
D)x >y BA R 0 VE > g x - 4=y 1 (=3)
) 28. A 4FE—EHMAEME @ B ATRILIFEZEER - 2R 10 EAEE - 16 RA[5EH -
AVEE 32 A GEAF > SR A5 ?

(A) 4 (B)5
(C) 8 (D) 10
) 29. Fy Blx fRIELE  EAIx=18FF > y=8 > HIE x=9Hf » y=?
(A) 4 (B) 12 (C) 16 (D) 24

)30.5%a~b S HIFEE > Hatb=70>a:b=3:2>Hla="?
(A)7 (B) 14 (C) 28 (D) 42

) 31. NHIIE—{E BT Hy y B x pleRZEE 2
(A) & x 001~ By ARGV R 20 SF 55T
(B) 2K 20 N H > FEx /NEFE Ty A H
O 1REH 1570 MNHE xR > T yIC
D)x -~y BAR0HVE > e x 5=y 1 (—3)

) 32. NHMAEAEAEFER —20+3> — 1 AYfE 7

1
(A)2 (B) —2 €13 (D) 3

) 33. @& H T 5 WEHERYEER LA I 50 JTHYSRI T > 4570 200 JT > $[OERAVERHE S 10 IT -
Al 1 SRR ALY [E 8 A 0 g Ky FYIfer 2
(A) 20 (B) 22 (C) 25 (D) 28

) 34. HREEEL NG - BEREEERE 3 oy T S o7 - /DR B x B - 13 fIE T
HEGTAERL 85 73 - AlZNFIE TN 22/ DE S G RS RE 7

(A)5 B)7
()9 (D) 10
) 35. CRl x>a > y>b o R NHIFGIHAEEER ?
(A)x+4>a+3  (B)y—3>b—2  (C)2x>2a (D) §>§

) 36. 3x—2 <4 AR > A (EIEEEE ?
(A) 1 1 (B) 2 {i (C) 3 {H (D) fEfRZA[E

) 37. THIZEES > A REARER 2x—11 >3 AU ?
(A) 6 (B) 7 (€)8 (D)9



( D) 38 —{ERHzmE 550 T - —fE/NEZRE 330 7T > T 8 {E - SREAHEAE 4000 JT - EEAHEE x (E -

RIfRE R w71 =0 Ry el 2
(A)550x +330x(8 —x)=4000 (B)550x -+ 330x(x — 8)<4000
(C)550x+330x(8 —x) < 4000 (D)550x + 330%(8 — x)<4000

( D) 39. F—sRIEG P CRIRAEEE G =UEHE > FEmaReTX
A NI Ry s BE R AV N ?

(A) (B) (©) (D)
] 5 * W

(A ) 40. EFETFEHE P EFNYE T o b [ - 575 N IE RIS R 2
(A) 10 : 29 (B) 10 : 59 (C) 10 : 26 (D) 01 : 56




